Worked example

Your turn

Find general solutions to:

dy

2 42y = eX
dx+ y=e
dy o

Find the general solution to:
dy
=L 4y = e¥
dx YT °

1
y = —§ex + cet*



Worked example Your turn

Find general solutions to: Find the general solution to:
cosxd—y+ sinx =1 cosxﬂ+2ysinx=cos4x
dx 7 dx

y = cos? x (sinx + ¢)
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Your turn

Find the particular solution such that
y = 3whenx =m:

dy+ 1
COSde ysSinx =

Find the particular solution such that
y =2 whenx = 0:

d
cosxd—z + 2y sinx = cos* x
y = cos? x (sinx + 2)
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Your turn

Find the particular solution such that
y = 2whenx = 0:

dy _ 1 T[< <T[
cosxdx =1L-3 X >

Find the particular solution such that
y =2 whenx = 0:

dy+ =1 7T< <T[
cosx——+ty=1--o<x<3
COS X
y=1+

1+ sinx
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Find general solutions to: Find the general solution to:
dy+3 _ Inx >0 dy+5 _ Inx >0
Yax T T T * Yax T T T *
Inx 1 C
Y= Tt
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Solve the differential equation, giving y | Solve the differential equation, giving y

in terms of x, where in terms of x, where
dy dy
X T xX°y X T Xy
andy=1latx=1 andy=1latx=1
1 4x
y=-35+

3x2 3




